@ x2y5

@ —xy®

® —x’y*

@ xy°

D —xhy



the 540 xol tfe F5Alo] HES A a,b,c 9] P& Folelat

ax’> —x+c-3=2x>-bx-2

8 ©
o o
S8 Q
| I

v
L
o
|



3. the Mol xol @ Aol HES A, B S AT ), A+ B
e Fotoler,

dx-6=A(x+1)-B(x-1)




4.

A 13 + 502 —kx—k 7F x— 1 2 Uo] GO & A4k 2 g
-steizt.

D
=%

tlo



5. The u7le] Fold 45 xet @ o, it 5147 B v o] A

1 2
-2, 2, 0, =35, 4, =
3 5

@ 17 @ 37 @ 574 @ 770 ® 971



@ -1+2i ® 2+3i

-3 -2i

® 5+2i

@ 34+4i



lx—1] = 52] BE sj2] 3F22



L

y = % - 4 - 79] A%GE Fotolet,



9. (xty)S HNE O FO A n+ 140lek. A ((2a-36)% (2a+
361 & AAT o, B A4 T 7

@ 770 @ 87} @ 1270 @ 1370 ® 6471



@ a+c

@ a®+b*+c?

@ a-b?

® a4+ b2 —c?



11. A N = pigr 2 2[077261E o, &9 49 e (n+
) (m+1)(I+1)°]ch o] off, 383 + 3382 +3-38 + 19| &F9] oF49]
i

@D 974 @ 1274 ® 167 @ 247 ® 327



12, OIAPFAHA 2+ Tx+1= 02 F 2ol o, BL W, (e +82) +5(a+p)
o] #= Foiet.

D
=%



13. X -px+q=09F 2 a, poltt. a+B=3, afp=2% W p? + ¢
o g Fafeler.

D
=%



14. x99 HA7F-1<x <24 o, o]z} y = —2x2 +-4x+1 9] PGS
-5 ?

® -2 @ 2 @ 3 @ 4 ® 5



X +3x%2-kx-5

74

x ol Thgh b
ko] 727

15.

® 3

1



16. AATAEA X+ 22 +ax+b =09 F o] -3, 1- V24 o, F5
a, b %t a+ b9 Y27

O -10 @ -5 ® 0 @ 5 ® 10



oAl xy 2] Bt -otHA?



18. w4 2x% — 242 4 2x - 3L HEEA A4E G 2L Fow?

O P+ (x+3)(x+1) @ P+ (x+3)(x-1)
® (2+1D)(x-3)(x-1) @ (?-3)(x-1)(x+1)
® (¥2+3)(x-1)(x+1)



e Aozt

(1= 20) (1 - i) 7} 5157} F=% A4 x ]



20.

2t & o, FAEL] WelE A7t =A & o, ¥hAF2
Stozt,

o




21. ¥ -2x2-5x+6=0 9 = F5}oiz}.



22, |x+1|+y-2 =02 TEok=E Ag x, y o] F xy 9] FH2?

® -2 @ -1 @0 @1 ® 2



td (@+b-c)la-b+c) =

S

WOl do] g, b, coll o

—_—

T
o
o
L

<A

7F?



24. a,b,c=A50|1, a> 0,ac—b% > 0,b % 00]2F S 0], x 2] o] xPFA A
x> = (a+c)x+ac—b* =09 o et b AW F &2 A

© A2 OE E e gola @ MR e = o ool 2
® %o F2 @ 8o

® Az e 8



ax> +bx+cvx=34 o, &3t 4 & 7HAH A
ot ol ™, a-b-c 9 F2?



